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1. Which one of the following statements
about the Attorney-General of India is
NOT correct ?

(a) He shall have the right to speak in
the Houses of Parliament

(b) He shall have a right of audience
in all Courts in the territory of
India in the performance of his
official duties

(c) He must have the same qualifica-
tions as are required to be a Judge
of the Supreme Court

(d) He is a whole-time counsel for the

Government

. Consider the following statements
relating to short notice questions asked
in the Legislature :

1. These relate to matters of urgent
public importance and can be
asked for oral answer at a notice
less than 10 days

2. Short notice questions can be
admissible if the Minister con-
cerned agrees to answer to it

3. Short notice questions are asked
during question hour

Which of the statements given above
are correct 7

(@ 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

3. Which one. of the following is NOT

true of the 10th schedule of the
Constitution of India pertaining to
disqualification of members of the
Parliament and State legislatures ?

(a) The schedule lays down that
elected members may be
. disqualified on the grounds of
defection

(b) Disqualification on ground of
defection does not apply in cases
of merger with another political

party

(c) Cases of dispute are decided by
the speaker or Chairman of the
House concerned

(d) The Supreme Court of India is the
final arbiter in cases which remain
unresolved

. Which of the following pairs of list

and contents is/are correctly matched ?

Public health
and sanitation

1. State list

2. Union list Citizenship,

naturalisation
and aliens

3. Concurrent Legal, medical
list and other
professions

Select the correct answer using the
code given below :

(a) 1 only
(®) 1,2 and 3
(¢) 2 and 3 only
(d) 3 only
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5. Which one of the following statements

is correct ?

(a) Bacteria contain cytoplasm but
- viruses do not

(b) Bacteria contain mitochondria but
viruses do not

(c) Viruses contain mitochondria but
bacteria do not

(d) Viruses have a cell membrane but
bacteria do not .

. Which one of the following will
happen if the medium surrounding the
cell has a higher concentration than the
cell ?
" (a) The cell will gain water

(b) The cell will die
(c¢) There will be no change

(d) The cell will lose water

. Rough endoplasmic reticulum (RER)
looks rough under the microscope
because of the attachment of which
one of following cell organelles to its
surface?

(a) Centrioles

(b) Plastids

(c) Lysosomes

(d) Ribosomes

The increase in length of stems and
roots in plants is due to

(a) lateral meristem

_(b) intercalary meristem

(c) apical meristem

(d) secondary growth

. In plant cells, the turgidity and rigidity

is provided by
(a) ribosomes
(b) mitochondria

(c) golgi apparatus

- (d) vacuoles full of cell sap

10.

11.

Pollens are produced in

(a) Corolla

(b) Style

(c) Stigma

(d) Anther

According to the Law of Diminishing
Returns, in a production function when
more and more units of the variable
factor are used, holding the quantities

of a fixed factor constant, a point is
reached beyond which

(a) the marginal revenue will diminish

(b) the average revenue will diminish

_(c) the marginal product will diminish

(d) the marginal product will increase

A — GHY-F-BST



12.

13,

- 14.

e & & o v W R 2

(2) & Poiaar wfantt wf & sfitaa
T ok "G sty 9sh gofa:
AEER B €

(b) fmlt wwfer wf ¢ diwia
oty 9 I sitga gurfy @ A
SR BT ©

(c) 3iaanTear U wieantt & |
A AT §

(d) a=EET #, THIftER W

et fer (37R) & aar @

i i fa = B (R

senfefid st femie) = arerd ©

(a) Fwa # St g o afteda |, =@
# foretgper aftada =i e

(b) ST | TS B Iiadd W, 7FT
T Siel gRadq o &

(c) sma # Uw DI gfadd w8, wir |
us T aRedw g @

(d) FWa # & &3 aiteacd w, A A
TF Dot IRadT BT g

A AR & el ag i fiua
90 T ¥ FgaR 110 €9 B ot & 3R
T 5k ag quian © foh ARl Wt wew F

WA BT 240 THE & 160 THE © | 7,

HiT i Frwa A w5 s e
(a) 1-0
(b) 2-4
() 05
d 20

- GHY-F-BST - A

15.

16.

17

18.

femelt shfee 1€ w1 st 24% =1 Wiy
¢ B, W ARl . = @ T eRb,
afe gerehifa 6 | 10% & ?

(a) 240%

(b) 34%

(¢) 14%

d) 4%

frafafea % @ 5 9 fafe (@

foafe) & =9 3 s ST @ 2

(a) A3 '

(b) TAATe

(c) wiHfceese

(d) TRefeeess

frafafaa & & o9 @1 1, fisa woma

= wefifa &l wem ?

(a) 5 % & o fafe fen g
e g

() FgH @

(c) Haa R go

(@) e (%) foemm

et w & gaw (g@ wA) F R

waiftes g staear, ffafea # 3
e R 7

(a) T T 3R o= qmm
(b) =1 g sk oo amomE
(c) S=a T 3R IF ATHN
(d) J=3 & 3R fe= o



12.

13.

14.

Which one of the following is NOT
correct ?

(a) The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

(b) The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

(c) In the long-run, a competitive firm
earns only normal profits

(d) In equilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

Zero price elasticity of demand means

(a) whatever the change in price,
there is absolutely no change in
demand

(b) for a small change in price, there
is a small change in demand

(¢) for a small change in price, there
is a large change in demand

(d) for a large change in price, there is
a small change in demand

Suppose that the price of a commodity
increases from ¥ 90 to ¥ 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160
units. Then, the coefficient of the price
elasticity of demand will be

@) 10
(b) 2-4
) 05
(@ 20

15.

16.

17

18.

What is the real interest rate on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%

(b) 34%

(c) 14%

(d) 4%

Which one of the following is know;x
as Wood Spirit ?

(a) Methanol

(b) Ethanol

(c) Formaldehyde -

(d) Acetaldehyde

Which one of the following will NOT
show Tyndall effect ?

(a) Chalk powder freshly mixed with
water

(b) Lime juice

(c) Few drops of milk mixed with
water

(d) Starch solution

Which of the following are the most

favourable conditions for liquefying a
gas ?

(a) Low pressure and high tempera-
ture

(b) Low pressure and low temperature

(c) High pressure and high tempera-
ture

(d) High pressure and low tempera-
ture
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19.

20.

21.

22.

Aluminium, Iron, Copper and Zinc are
extracted from

(a) Bauxite, Magnetite, Malachite and
Calamine respectively

- (b) Magnetite, Bauxite, Malachite and

Calamine respectively

(c) Calamine, Malachite, Magnetite
and Bauxite respectively

(d) Malachite, Magnetite, Bauxite and
Calamine respectively

Which one of the following does NOT
contain COOH group ?

(a) Citric acid
(b) Lactic acid
(c) Tartaric acid
(d) Ascorbic acid

The Soda-acid fire extinguisher con-

tains

(a) sulphuric acid and solution of
sodium hydrogencarbonate

(b) nitric acid and solution of sodium
hydrogencarbonate

(c) sulphuric acid and solution of
sodium carbonate

(d) sulphuric acid and solution of
potassium carbonate

Who among the following was NOT
associated with the Kakori Conspiracy
Case ?

(a) Ramprasad Bismil
(b) Rajendra Lahiri
(c) Ashfaqulla Khan
(d) Surya Sen

23. Which of the following statements

about Bhagat Singh is/are NOT true ?

1. Bhagat Singh was influenced by
socialist ideas

2. He was a member of the
Hindustan Socialist Republican
Association

3. Bhagat Singh threw a bomb in the
Central Legislative Assembly in
1929 with the objective to kill
as many people as possible

Select the correct answer using the
code given below :

(@) 1and 3
(b) 2 and 3
(c) 2 only
(d) 3 only

. Which of the following statements

about Ishwarchandra Vidyasagar is/are
NOT correct ?

1. Vidyasagar’s writings significantly
helped to develop the Bengali
language

2. He received the title ‘Vidyasagar’
from Presidency College, Kolkata

3. He was enthusiastic about the
spread of women’s education

4. Vidyasagar defended widow
marriage without being convinced
about scriptural support

Select the correct answer using the
code given below :

(@) 2and 4
(b) 1 and 2
(c) 4 only
d 3
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25.

26.

Which among the following statements
about the Jallianwala bagh massacre
is/are correct ?

1. In Jallianwala bagh troops opened
fire upon an unarmed crowd

2. The troops were under the
command of General Dyer

3. The troops did not issue any
warning to the people before
opening fire

Select the correct answer using the
code given below :

(a) 1 only
(b) 1 and 2 only
(¢) 1,2 and 3

(d) 2 and 3 only

The Voter Verifiable Paper Audit Trail

(VVPAT) system was used for the first
time by the Election Commission of
India in i

(a) North Paravur Assembly Con-
stituency, Kerala

(b) Noksen Assembly Constituency,
Nagaland

(c) Mapusa Assembly Constituency,
Goa

(d) Nambol Assembly Constituency,
Manipur

11

27.

28.

29.

Name the theme of the annual report

published by the United Nations -

Population Fund (UNFPA) on State of
World Population — 2019.

(a) Worlds apart : Reproductive health
and rights in an age of inequality

(b) The power of choice : Reproduc-
tive rights and the demographic
transition

(¢) Unfinished business — the pursuit
of rights and choices for all

(d) How our future depends on a girl
at this decisive age

Who among the following was
awarded Saraswati Samman for the
year 2018 ?

(a) K Siva Reddy
(b) Mahabaleshwar Sail
(c) Padma Sachdev

(d) Sitanshu Yashaschandra

‘Kandhamal Haldi’, which received GI
tag recently, is a variety of turmeric
indigenous to

(2) North Bengal

(b) Southern Odisha

(c) Sangli, Maharashtra

(d) Alleppey, Kerala
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34.

35.

36.

(a) 50N
(b) 100N
(c) 600N

(d) 15000 N

et dg@ SEEm &
Fraffea A d = ot i & 2

(2) @ TET T IS qET G
H TR FA ©

(b) aga-g—mﬁnawaﬁgﬁaw
wrafda forar s gt @

(c) A F=ehiT a1 e Bt B
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(b) e

(c) =t adr

(@) g T
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(d) eI T Ui AT RrEdE



30. Zayed Medal is the top civilian honour

of

(a) Pakistan

(b) Saudi Arabia

(¢) United Arab Emirates

(d) Qatar

31. When a longitudinal wave moves

through a certain medium, the quantity
which is transmitted through the
medium is

(a) material of the medium only

(b)
(c)

energy only

both material of the medium and
energy

none of the above

@

32. The number of neutrons inside the

nucleus of the element Uranium-235 is
(a) 235
(b) 92
(c) 143

(d). 51

33. A snowboard pulled up by a tow rope

travels at the rate of 5 m/s up a
mountain. If 3000 watt of power is
used, what force was applied to it ?

13

34.

35.

' 36.

(@) 50N
(b) 100 N

(c) 600 N

(d) 15000 N

Which one of the following is NOT
true for an electromagnetic wave ?

(a) Electromagnetic wave transports
~ energy and momentum

(b)

Electromagnetic wave can be
polarized and reflected

(c) Electromagnetic wave is longi-

tudinal

d

Electromagnetic wave propaga-
tion is described by the varying
electric and magnetic fields

Which one of the following is NOT an
electromagnetic wave ?

(a) Light wave
(b) Radio wave
(c) Sound wave

(d) Micro wave

Brilliance of diamond is due to
(a) interference of light

(b) diffraction of light

- (¢) polarization of light

(d) total internal reflection of light

A — GHY-F-BST
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40. 9% T G 4 W E s R

41

42.
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(a) 10

(b) 11
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xu+yv=0'%,?lﬁ'

1. 2+u?=1

2. 2 +v2=1

3. xy+uv=0
S A ¥ A A@/q ww /% 2
(a) Haer 3

(b) Haer 132

(c) 1,233

(d) Haer2 33




37. Which of the following conditions 40. What is the natural number n for. which

is/are essential for wheat cultivation ? 39+ 312+ 315 + 37 is a perfect cube of
an integer ?
1. Optimum temperature  during
growing period is around 30°C (a) 10
2. A frost-free period of about () 11
100 days
2 (c) 13
3. Light clay or heavy loam soil @ 14
Select the correct answer using the
code given below : 41. If a circle and a square have the same
perimeter, then

(@) 1,2 and 3
(a) their areas are equal

(b) 1 and 2 only
(b) the area of the circle is greater

(c) 2 and 3 only than the area of the square
(@ 1 only : (c) the area of the square is greater
than the area of circle
38. Gwadar port is located in (.d) the area of the circle is two times
the area of the square .
(a) Pakistan
. 42. Let 2+)y*=1;
O w+v*=1 and
(c) India B i o
R +ut=
(@ Sri Lanka Latui=1
: 2. ¥ +vi=1
39. North-west part of the Indian peninsula
3. xy+uv=0

was converted into a great centre of

vulcanicity in Which of the above is/are true ?

(a) the end of Cretaceous period (a) 3 only
(b) the mid of Cretaceous period (b) 1 and 2 only
(c) the start of Cretaceous period (¢) 1,2 and 3

(d) the whole of Cretaceous period (d) 2 and 3 only

15 A — GHY-F-BST



43.

afe af (o af A Brgaw) w1 wgen
e FER o1, o= 9| o @ afem fF
T |1 a1 ?

(a) ®FER

() FER

44.

45.
 Frafofea 3 @ = fear gon i & 2

46.

(c) wfEr
(d) 9 FE T

A" & AR 10 Hiex R et sk
10 R JedT § | TEER TS IR
Foft ST R AR | FAW: 5, 15
#R 15 Hix v R | 3= q@ I
e forg & feram r @ 2

(a) 55 HxX

(b) 23 HX

(c) 5 HxX

(d) = F ¥ A T

T @ Aifa & fRws T §,

(a) &™ = =, fen o Rk s
Al W Wl gEmar 9 &
sfaR

(b) wmifeRt & forg gam Rifeer dfean

(c) =uTfrmr &1 wEuTferer &
GHFRI

(d) @WHE @Ed & Y H
FHEART T AR

frafafea # & feg gom /vl &
IR Yo R s *F Rwmw @
et fofe 57 gt B sroet-sme

foram |wrsl & woEt ¥ WaeE % SMuR

) T st A 7

GHY-F-BST - A
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47.

48.

(a) weE fare

(b) form finm @
(c) safer fwrd
(d) ' HTSveaed W

A IR F ammeyt Ayl g %

sR § frafafea # & 97 @1/8 ==

T 2/% ?

1. 98 e @il & =i & sfa a=ar
21

2. NHQME EREATHS IR
FTERTHS fafiamsit & a9 &t
BRI

ﬁ%ﬁﬁﬁ@mmaﬁﬂ’é’rm

(a) Fae 1

(b) Fae 2

(c) 13k 23m=t

d T A1,782

T &I Hifa & feus a@ & sy §

fFreafafea & & % @1 =09 v =

g7 et

(a) T H Hifds & FRys T =
qie[ T WATEA % AES &
a1y wr o # it e

b) T Hit Ay F fRwe o=
A GfquE & e Tsa &
7 H g w9 3 §

(©) 2 3 e e A R

& At & foww T@, W
ARt R 3aT TEd §

(d T &t dHifs F fRvw o=
Tt #§ yadHg el e




43.

If the first day of the year (other than

 the leap year) was Sunday, then which

was the last day of that year ?
(a) Monday

(b) Sunday

(c) Saturday

(d) None of these

44. A walks 10 metres in. front and 10
 metres to the right. Then every time

45.

46.

turning to his left he walks 5, 15 and
15 metres respectively. How far is he
now from his starting point ?

(a) 55 metres
(b) 23 metres
(c) 5 metres
(d) None of these

Which of the following is NOT
provided for under the Directive
Principles of State Policy ?

(a) Right to work, to education and to
public assistance in certain cases

Uniform Civil Code for the citi-
zens

(®)

(c) Separation of Judiciary from

executive

(d) Participation of workers in the
management of local-self govern-

ment

According to which one of the
following plans/reports, the decision
with regard to the partition of Punjab
and Bengal was to be taken on the
basis of voting of the Members of the
respective Legislative Assemblies ?

17

47.

48.

(a) Nehru report

(b) Cripps mission plan
(c) - Beveridge report
(d) Mountbatten plan

Which of the following statements
about Max Weber’s ideal theory of
Bureaucracy is/are correct ?

1. It refers to the dominant class
character.

2. Bureaucracy is associated with
structural and behavioral charac-
teristics.

Select the correct answer using the
code given below :

(a) _1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one of the following statements
regarding the Directive Principles of
State Policy is NOT correct ?

(a) State shall follow the Directive:
Principles of State Policy both
in the matter of administration
as well as in the making of laws

The Directive Principles of State
Policy embody the object of
the State under the republican
Constitution

()

The Directive Principles of State
Policy have precedence over the
Fundamental Rights in case of
conflict between the two

(d) The Directive Principles of State
Policy are not enforceable in the

Courts

A — GHY-F-BST



49. /R A H IRAIE & A
oy frraferfea & & = @ € 2

1. gifdfa  wer  siuefe,
amra: fofte, frasat w smafa
Tt ® :

2. RS w@aEan AR Jafee
Fftart it wemfy et @

3. I8 UoHifas WiteR =, a99d:
et ofes & arg ffifa o=t
g

T A ™ & = W R @ Sw
i
(a) Sael 133
(b) Faer 1 3R 2
(c) Faw2 3R 3
(d) 1,23R3
50, HIEIEE UIRY FEl W I F f
HTE TS € 7
(a) W BERR WHT §
(b) =g araraRer §
(c) U aramEwer d

(d) wfra SaTemEta wmar &

51. frafafaa & @ = w1 e e

(Frsefen) ¥ =R § 2
(a) wifar stk gga quriy
(b) &R SeETE 3R TR FHG
(c) wrsgT 3R T T
(d) g=iween R |EE

GHY-F-BST - A
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52. forelt 1ew % We 1wy i IR gH
s fore & weiftm @ 7

(@) FETEE
(b) EFTCHE FeRIATAAT
(c) FUTHSE FehIATTAc
(d) <rftrrferan

qed WSt B STt SRR st
Al gag @ R werdt € 2
(a) WH |

(b) T WA

(c) ray=H

d) Tu

83,

54. 7% TE-fge vl % w9 § s
(Twfew) =am9s &9 ¥ wyeh fea s
RlmiAdar g ?

(a) Hg
(b) Si
(c) Ti

" (d) Sn

55. 9t ggawr & forg frfofea & ¥ =
W foRam strar @ 2

(a) Mg(HCO;),
(b) Na;PO,
(c) NagPeOg
(d) Na,HPO,



49.

50.

31.

Which of the following are the
defining features of liberal demo-
cracy ?7

1. Constitutional government based
on formal, usually legal, rules .

2. Guarantees of civil liberties and
individual rights

3. It invests political authority with
potentially unlimited power

Select the correct answer using the
code given below :

(a) 1 and 3 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

Phreatophytes are the plants adapted
to grow in

(a) moist shaded places
(b) rocky environments
(c) arid environments

(d) active volcanic lava

Which of the following organisms
belongs to Coelenterata (Cnidaria) ?

(a) Planaria and liverfluke
(b) Sea urchin and sea cucumber
(c) Hydra and sea anemone

(d) Euplectella and sycon

19-

52. Bending of shoot of a plant towards
light can be referred to as

(a) photonasty
(b) positive phototropism
(c) negative phototropism

(d) photoperiodism

53. Epidermal cells of plant roots increase

their absorption surface by having
(a) Scales

(b) Root hairs

(c) Endodermis

(d) Stomata

. Quartz is extensively used as a piezo-
electric material. It contains

 (a) Hg
(b) Si
{c) ‘T3

(d Sn

55. Which one of the following is used for

water softening ?
(a) Mg(HCO;),
(b) NazPO,
(¢) NagP¢Oys

(d) Na:I{PO‘;

A — GHY-F-BST



56. afe v womEA X & Oifeaw w@v @ g
Na,X 8, o 3o uegHifemm w=ur &
A F91 BRI ?

(a) AIX ..
(b) AlX,
(c) AlX,
(d) ALX,
: s7.q¢ﬁmaﬁ (=) ool &g srdegaen

#, afe W s wafs wem 090 &,
T IUIE H A () T BN ?

(a) 10-00
(b) 1-00
(c¢) 0-90

(d) 010

58. T i figia (e = figia) &
FER, 31 % faeg waw Suww % 6t
YEUrET il 8
(a) HTcHS
(b) FUTHF
(c) ™
(d) =

GHY-F-BST - A

59, frfafea & & | @1, & I==aw
Ha (vrza diforr) @1 Sger € 7
(a) 9RT | TaE Sl grT Ui

fema
(b) foege & ¥ W o fma
(c) =11 STga & ford e wwde
oy |
(@) T TR g freifa ~gmaw
A

60. T FfeqaedT S A9 G FHTEAT
Wi (FEF) W R, F deEw F
freaff@da s o wd ¢ 7
(2) forelt qudt aeg 1 Seare s &

o srferaen < wF 9 F IO
ICUTGA 1 WA G (FH FHAT
qg)

(b) 98 T ¥EET F Twed #H,
sfemaedr & forw = diwn syan
wfeay & @

(c) wfemaen w& fog oo forlt o=
5] F sfusw Sarew flt gl
T F IR W HeR o, W
et @

(d) TEHT I GHEAT HiHTGH T
JERITH! YauraT 9% ©

61. ‘‘Praaafyar feamae”’ (Y e
firge) it sraurom A R T 2
(a) weH fam |
(b) %S ATYS
(c) 7 A=TE
(d) 9 T, e



56.

57.

58.
" the slope of the aggregate consumption

If formula of sodium salt of an anion
X is Na,X, then the formula of its
aluminium salt would be

(@) AKX

(b) AlX;

() AlLX;

(d ALX,

In a closed economy with no taxes,
if the marginal propensity to consume
is always 0-90, then the value of the

‘multiplier will be

(a) 10-00

(b) 1-00

(c) 0-90

(d) 0-10

According to simple Keynesian theory,
curve against income is

(a) Positive

(b) Negative -

(c) Zero

(d) Infinity

21

59.

60.

61.

Which one of the following is an
example of a price ceiling ?

(a)
(b)
(©)

Fares charged by Airlines in India
Price printed on biscuit packets

Minimum support price for cane
growers

(d) Minimum wages fixed by state
Governments

Which one of the following statements
is true with regard to an economy
which is on its production possibility
frontier ?

(a) The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

There is no limit or constraint for
the economy in the production of
goods and services

(b)

(c)

The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

(d) Its production possibility frontier

is an upward sloping curve
Who coined the concept of “Paradox
of Thrift” ?
(a). Adam Smith
(b) Alfred Marshall
(c) John Maynard Keynes

(d) Paul A. Samuelson

" A - GHY-F-BST



62.

63.

64.

frafofea & & @ @ 9= sftfrw 3
WRA & @ H IARfE, @i R
arettor =t 7 fawfora ferar 2

(a) = afafeem 1864
(b) == fifam 1865
(c) = sfufam 1866
(@) sftrfes 1878

frfofea weamit w famm $ifs

1. s frem it wmeET

2. A gATS <ht T

3. & AT <l T

4. THEE Heelt < wTqAT

JUYTh W Rl R A
Ffeffea dasmar 2

(a) 1,2, 3.4

®) 2,3,4,1

(c) 3,4,1,2

@ 3,4,2,1

T 1905 & W@t ARl & wed A
fraffm i a I adt € 7

1. AT # =TI el s fahg
b 1

2. ST H LT i T

3. SGIeH I YEATT RAIET gRI
i T o, fRg 9 & W A

SHIfoRRY TrgaTfedt ¥ 3w g
# A foram

GHY-F-BST - A
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65‘

66.

67.

= Ry T Fe W W@ R T SW
gfv ;

(a) 1,2aﬂ?3

(b) Faer 1 3R 2

(c) Fa=1 2 3R 3

(d) FaeT 1R 3

T TS TR ?

(2) Tefor weaanfeat i s
(b) ST wErETE H
(0) P et 6t s
(d) o1 TeEafedt i s

afe gelt @ frefln wwod w05 @
(aftsrmr-va) Fi SR g gon wE W,

.t

(a) o€ & fr sl T Bnf

(b) ¥ =g 3R stfees w Sxit

(c) st § ¢ sgema e Bn

(d) s =g F1et 3R 3iftres e B
ﬁﬁr%ﬂﬁﬁ%ﬂﬂm, TE W agg
TE® 7

ORI

(b) YT @

(c) =T

(d) ==HT




62.

63.

Which one of the following Forest
Acts divided forests of India into
reserved, protected and village forests ?

(a) Forest Act 1864
(b) Forest Act 1865
(c) Forest Act 1866
(d) Forest Act 1878

Consider the following events :

.1. 'Fo‘lmd_ation.of the Ramakrishna
Mission

2. Foundation of the Arya Samaj
3. Foundation of the Brahmo Saniaj

4. Foundation of the
Mandali

Paramhans

Which one of the following is the
correct chronological order of the
above ?

@.1,234
(b) 2,3,4,1
) 3,4,1,2
@ 3,4,2,1

. Which of the following are true in

the context of Swadeshi movement in
1905 ?

1. Massive demonstrations were held
in Bengal

2. Hartal was observed in Calcutta

3. The movement was initiated by
the moderates, but was taken over
by the revolutionary nationalists at
a later stage

23

65.

67.

Select the correct answer using the
code given below :

(@) 1,2 and 3
(b) 1 and 2 only
(c) 2 and 3 only

(d) 1 and 3 only

What is Sant bhasha ?

(a) Language of the nirguna mystics

(b) Language of the ulatbansi mystics
(c) Language of the nirakar mystics

(d) Language of the saguna mystics

. If the equatorial plane of earth is NOT

inclined to its orbit, then

(a)

duration of the year would be
longer

summer would be warmer

(b)
(©)

there would be no change of
seasons

winter would be longer

(d)

Which one of the following is NOT a
luminous object ?

. .(a) Sun

(b) Electric lamp
(c) Candle

(d) Moon

A — GHY-F-BST



68.

69.

70.

71.

=i ferelt firom W wa ey & o fomm
- go @ smfed e fear smr R, @@
frfe e @ few wew & fou
stftreram foem ST @ 2

(a) <l HehT
(b) ST WeRTYT
(c) e wehTsr
(d) T weRTy

frafafes & @ =9 & w gfwen
ef a@ grr wefifa At & s aa
- B

(a) 9XEEA

(b) UFAH

(c) =afaaur

(d) gaor

NS aufEe (YR wEeRmd) #
fafea fogia ©

(a) SrEMEO

(b) fawrm

(c) Taetmar

(d) - aTSaSfterar

e & fafafea 3 3 fer osw 3, =
Herquil & ar=ered & aita fasmaad
g% § ?

(a) fewmee wewr

(b) STEITES WeW

(c) &Alesh

(d) S5 FAICES

GHY-F-BST - A
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72. 99 QUENE W WEE W91 G

fraffar @ g 7
(@ B |
(b) ErFEHTEE!

(c) farmrg

(d) ¥

73. frafaflae & @ = a1 stey sifteas

WA 41 & 8 o ToRaT § ?
(a) 20° N JiEmer
(b) 22° N &Y
(c) 24° N &Y
(d) 26° N &I

74. SR & g i AR fewrerdt wia Hfvmt

(&) =1 o s feafafes d @

HTETE ?

(a) FRIDRHA, LM, R, T Iole,
fimfes

(b) TR, TSR, TR YT, HRIHRA,
fyrafers

. (¢) YR YN, SRR, HRIHRH, ¥Ld,

firanfers

(@) Rrafer, SRR, 9 9o, wem@,
HRIHIHA

75. R ©

(a) I FARET 1 TH wEAd &4
(b) W@ i TF HiEw o

(c) YHEAETRIY &7 <l THh TGl GHel
(d) i srhien § weh STt



68.

69.

70.

Y 7

When a beam of white light is allowed
to fall on a prism, the maximum
deviation of the emerging light occurs
for :

(a) red light
(b) violet light
(c) yellow light
(d) blue light

Which one of the following pheno—‘

mena CANNOT be exhibited by sound
waves ?

(a) Reflection
(b) Refraction
(c) Interference

(d) Polarisation

The principle involved in paper

chromatography is

(a) Absorption

(b) Partition

(c) Solubility

(d) Volatility

Which one of the following states of

India has the largest area under dense
evergreen forest cover ?

(a) Himachal Pradesh
(b) Arunachal Pradesh
(c) Karnataka

(d) Uttarakhand

25

72.

73.

74.

75,

Which one of the following is the
- biggest Island of Japan archipelago ?

(a) Honshu

(b) Hokkaido

(c) Shikoku

(d) Kyushu .

Which one of the following latitudes

passes through maximum - Indian
states ?

(a) 20° N latitude
(b) 22° N latitude
(c) 24° N latitude
(d) 26° N latitude

Which one of the following is the
correct order of Himalayan ranges
from North to South ?

(a) Karakoram, Ladakh, Zaskar, Pir

Panjal, Siwalik

(b) Ladakh, Zaskar, Pir Panjal, Kara-

koram, Siwalik

(c) Pir Panjal, Zaskar, Karakoram,

Ladakh, Siwalik

Siwalik,  Zaskar,
Ladakh, Karakoram

(@ Pir Panjal,

Sonoran is a
(a)
®)
(c)
@

desert area of North America
seasonal wind of France
cash crop of Mediterranean region

tribe in South Africa

A — GHY-F-BST




76.

77.

78.

EI R SN QP S G
sttt o il s Pl &
AdTaE ?

(a) WAR I WIS — UTeeh TASHEHET —
qTeh @rel

(b) UTh TASHEHEY — HHK ot WIe —
qTesh @rsl

(c) UTeeh VTSHEHET — qiedh Qe —
TER it GEt

(d) F @El — 9o m_
AR S @t

foamt wiem 3R wifRaw M @

wE W e Ay dmar & 2

(a) FETIAIR HT AT FAT

(b) sroig (fewrss) femrars wagt
@t wiqurfea &

(c) 3N I =T &
(d) Sy afiads &1 qmET AT

uiw fm - wfvm, g, Ak, afa
AR dieT € | afem o # 3o ¥ D
%%&w@ﬁﬁm%iﬁﬁam-
o ® | At e @99 Bier ek
o ¥ G W # AR ¥ w H
femma & w0 gu s # @ &, a9 AW
I G HIT BRI ?

(a)ﬂﬁlﬁ

(b) Hred

(c) afa=

(d) Fome

GHY-F-BST - A

26

.

80.

afc M, N1 WE ®; B, N w1 WE R 3k
M, D & 9 &, 99 Frafifaa # 3 2
wEa o sgdadi 2 2

(@) N,BF1 SR
(b) N, M1 E R
(c) N,D&T 9E ©

(d M,BFTAE®

fet fafie w1 ¥ GAMBLE =t
FBLCKF & &9 % %¢ =ig fom sman |
St fa Wt ¥ FLOWER =t fg

| W e wg e smm 2

81.

82.

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(d) EMNTDS

@ W ¥, IR aw R W, R
o g &1 & wgy € R i yER
w1 % | fawm o= @ gfd |

(a) Friendship

(b) Intimacy

(c) Attachment

(d) Enmity

fertlt Eem @ weat W 53 ¥ SW
AT & 57% T BRI ?

(a) 136-74

(b) 149.46

(c) 181-26

(d) 197-16



76.

77,

78.

Which one of the following is tﬁe
correct sequence of the positions in the
Bay of Bengal from North to South ?
(a) Guilf of Mannar — Palk Strait —
Palk Bay

Palk Strait — Gulf of Mannar —
Palk Bay

(b)

(c) Palk Strait — Palk Bay — Gulf of
Mannar :

(d) Palk Bay — Palk Strait — Guif of
Mannar

Which one of the following is the main
objective of Vienna Convention and
Montreal Protocol ?

(@)
(b)

Combat desertification

Formulate sustainable develop-
mental goals

(c)
(d)

Protection of ozone layer

Combat climate change

There are five friends — Sachin, Kunal,
Mohit, Amit and Sohan. Sachin is
shorter than Kunal but taller than
Sohan. Mohit is the tallest. Amit is
little shorter than Kunal and little taller
than Sachin. If they stand in the order
of increasing heights, who will be the
third ?

(a) Amit
(b) Sohan
(c) Sachin

(d) Kunal

27

79.

80.

81.
~ given, out of which three are alike in

If M is brother of N, B is brother of N'
and M is brother of D, then which one
of the following statements is definitely
true ?

‘(a) N is brother of B

(b) N is brother of M
(c) N is brother of D
(d) M is brother of B
If in a certain language GAMBLE is

coded as FBLCKF, how is FLOWER
coded in that language ?

(a) GMPVDS
(b) GKPVFQ
(c) EMNXDS
(d) EMNTDS

In this item, four words have been

some manner and the fourth one is
different. Choose the odd one out.

(a) Friendship
(b) Intimacy

" (¢) Attachment

82.

(d) Enmity

One-sixth of a number is 53. What will
be 57% of that number ?

(a) 136-74

(b) 149-46

(c) 181-26

(@) 197-16

A — GHY-F-BST



‘ ss.ﬁﬁﬁwﬁﬁq%maﬁ 200% we fear

84.

85.

()

T ® 3R W H 300% ST fear s

&, < oo e % %) o B
ot ? |

(a)
(®)
(c)

it il e i

a5 At ww e fadwan, feafafea

AAem @ adfit ?

(a) WK fraffaa geafat & et &
Bt ®

(b) Trafem & Seficar en & afer
wivefta (ifir) S

(c) =mEEie 9k W oWl s &
HAQH IR &l AR Brar 8

(d) = # wax aftfs ot § ok
HA=T WA 99T BRg =R @
ftre B ®

g -fade Y i § frafafea #

AFT AR AR ?

(a) WRd WHFR TR TR fod o
Terelt forcfia IR & wwery & Fm
g

(b) vRa & whm PRy F = f
FeTatt (AT

(c) FT=T 117 A =N F AR
=1 faxfla il

(d) vRa & wha B ¥ &= o=
fafratem

GHY-F-BST - A
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86.

87.

88.

‘W e et f s a= ok
FERO AT B ¥ e & enRr
g |ud Wa g, wRa & Wi
& Feafafea & @ f5g 3w @1 SwEy
27

(a) g H Hify & frys o=

(b) I A

(c) T AferR

(d) Sefr

frafafes & @ sW & @
(aftemfchl) ‘A sREEl” W

(d) S== = fftes dar wfify

Yafew sfyerfeEt’’ (sERftesw) &

gay # fafafaa & 3 o9 @1/ ==

Tel §/% ? |

1. =7 fawm ® f6 o=t ® wm
AT gzt fit qg RS 6 @
&t HHATeT & FHY T GIATE ®9
A|RE

2. ¥ ue waeEn e f w1
?

3. A N SUHNT I 3R wH Iafire
IACH SaAdlel R ae o &
= A ™ 3 = W w| g =W

T .

(a) Had

(b) *ae 2

(c) 1,23R3
(d) FaT23R3



83.

' 85.

If the numerator of a fraction is

increased by 200% and the deno-
minator is increased by 300%, the

resultant fraction is %. What was the
original fraction ?

@ 2
®) 4
© 2
@ 8

. Which one among the following is

NOT the central feature of Polyarchy ?
(2

Govcmmeﬁt is in the hands of
elected officials

(b)
(©

Right to run for office is restricted

Practically all adults have the
right to vote

(d)

There is free expression and a
right to criticize and protest

Which one of the following does NOT
fall under the definition of the Money
Bill ?

(a) Amendment of law with respect to
any financial obligations under-
taken by the Government of India

(b) The payment of money into the

Consolidated Fund of India

(c) Any financial bill as per require-
ments of Article 117
(d)

Appropriation of money out of the
Consolidated Fund of India
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86.

87.

88.

“To cherish and follow the noble ideas
which inspired our national struggle
for freedom™ is a provision of which
one of the following of the Constitu-
tion of India ?

(a) Directive principles of the state
policy

(b) Fundamental duties

(c) Fundamental rights

(d) Preamble

Which one of the following authorities
CANNOT organize ‘Lok Adalats’ ?

(a)
(b)
(©)
(@

Panchayat Committees
Taluk Legal Services Committee
District Authority

High Court Legal Services Com-
mittee

Which of the following statement(s)
is/are correct in respect of the
‘ecoradicals’ ?

1. They believe that human societies
on earth are moving dangerously
closer to the limits of the earth’s

carrying capacity

2. They call for strict population
control

3. They stress for less consumption-
oriented and waste-producing way
~of life

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) 1,2 and 3
(d) 2 and 3 only

A - GHY-F-BST




89. wrdaT @A & ar # Fafefea 4 @

90.

91.

Y T qE B 7

1. =0 W feg #A™ & goR &=
a1

2. g% HewIy ¥ ik A

3. 3o favam udvatae o o1

4. TN TR AW W dgd wHItaa
ferar an

9 3 ™ ¢ = W@ | w@ SN

T .

(a) FaeT 1 AR 2

(b) et 2 3R 3

(c) 1,233

(d) 134

aifire TgaTiat X 1892 ¥ weRw
e (srfufoem) = o)y w9t fofam an 2

(a) et faar afeg & aowt 6 @en

ECRARER .

(b) WidF uftwgl & wewl 6 qen s
o S At

(c) ufwgl & arffe awe ) == =3
& aiferer ¢ fear o '

(d) 3@ TR A FEANE wET W
TRdEt @ frE 98 fear @

IGeT FAEd Beh W shoe H Hr

ST e 4T ?

(a) 1857 & g & A =M
fafest (3R) & faems fearos
wod &1 g foma @

(b) ¥ mefardt go & TS &

(c) 1870 & <y H SR @S &

faoms v wve fage @1 A9
feran

(d) ¥ ARG T FHIF F TH AR
gfad=aret Aar &

GHY-F-BST - A
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92.

93.

94.

Frafafea 6t v = FETEE
w9 § =afera Hifvg (IR & g& ==
®Q) :

1. 3w ifean wafoem

2. YT GrasIieh qH

3. HgE HESH AWl |

4. S A wEifrem

i oy T Fe @ W W qE W
e :
(@ 1,2,3,4

(b) 1,3,2,4
(c) 2,3,4,1

@ 3,2,1,4

TR (FrgAmeR) ft Rar i@

Ft wftg ot ? '

(a) ¥ TG AT ot of

(b) A TG AN AgrH= o

(c) ¥ TG wRE g of |

(d) ¥ A wify =eEe & Reams
faee =y of

wMa fawm gEeie (HDI) a9 &
ATER, G ¢ H QT W wE
fomme feafrfga da smar @ 2

(a) I, A, srrefor, fegerets
(b) i, Fegeets, siegfomn, st
(c) T, aregfer, smaets, et
() Teee, smes, 91, siefm



89.

90.

91.

Which of the following statements
about Prarthana Samaj are correct ?

1. Its aim was to reform the Hindu
society

2. It was based in Maharashtra
3. It believed in monotheism

4. It had greatly influenced the
Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 1and 4

Why did the early nationalists oppose
the Council Act of 1892 ?

(a) The number of members of the

Imperial Legislative Council was
increased

(b) The number of members of

Provincial Councils was increased

(c) The Councils were given the right
to discuss the annual budgets

(d) The Act did not give the Indians
control over the public funds

Why was Vasudeo Balwant Phadke
known in history ?

(a) He led a violent struggle against
the British during the revolt of
1857

(b) He was a critic of Gandhian
struggle

(c) He led an armed uprising against
the British in the 1870s

(d) He was a radical leader of the
Indian National Congress

31

92.

93.

Arrange the establishment of the
following in a chronological order
(starting with the earliest) :

1. The East India Association
2. The Poona Sarvajanik Sabha
3. The Madras Mahajan Sabha

4. The Bombay Presidency Associa-
tion

Select the correct answer using the
code given below :

(1,234

(b) 1,3,2,4

(c) 2,3,4,1

(d 3,2,1,4

Why was the Sittar poetry of Tayauma-
navar famous ?

(a) The writings were nationalist
compositions

(b) The writings were romantic epics

(c) The writings were devotional
songs

(d) The writings were protests against
the caste system

. Which one of the following is the

correct arrangement of the countries in
descending order according to Human
Development Index (HDI) value ?

(a) Ireland,
Switzerland

(b) Norway, Switzerland, Australia,
Ireland

(c) Norway,
Switzerland

(d) Switzerland, Ireland, Norway,
Australia

Norway,  Australia,

Australia, Ireland,

A — GHY-F-BST



95.

96.

IWHcartl IaAs 9 AW & &l
frafofaa # & o wEi smar @ ?
(a) T qera: I ==
(b) SEI-wafimr & gera: sfdm sk

fo-gd often - # yweRdlE
AUt 99T 99 &1 B BIg W

(c) el SrshrehT 3R ST aAtegferam
(d) S8 et qera: eftror-ufvad
Tt
qeTgh §
1. SEERE WA Hed
2. Vd a1g 3R gereht gaq
3. qEEI TeltEr

4. afeafa sik foear (afwmon) et
# uftadsfia

¥ Ry 0 oW W @ IR
L
() 1,234

© (b) Faw 23R 3

97

(c) 133
(d) 2,334

ferelt Tiftha aftar grr wgw (smfsaa)
Velles T & goih ¥ el d9aA @,
for =9 # ST ST ® ?

(a) =re] Aftrwr
(b) elle U@l
(c) =TeTaT
(d) feam

GHY-F-BST - A
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98.

99.

100.

frafafes # @ =9 @1, & wew-
W@mﬁmwﬂﬁ%?

(a) & g

(b) o =t 3R few wis (3m3@ *R)
(c) argat frEg

(@) et faga

INSPIRE ! Rd ®WHR H T&H IRt
Te R, foaforg & 2

(a) fomm 3R sgEY™ ®q wkwr @@t
it o & fog

() wRIEmT (heETe) & wEm ¥
FIgEeT SHfa & fog

(c) fifim s&T wmfat & fiw
FTEET B FGHET o & forg

(d) FqEEH & I9gh () &= H
IUTEgTh SR gl

wwRE Sa A g 150 v E HA
el 90 VAT F 40% 1 el ¥ Hel IR
fear ® 1 afe doof e F S 60% 3w
W A o o A9 60 wEl & fram
wfcrra &1 ST’ S8 BiH-3ie &A1 BRI ?

(a) 75

(b) 80

(c) 85

(d) 90



95.

96.

97.

Which one of the following does NOT
fall in the areas of tropical deciduous
forest biomes ?

(a) The Neotropics mainly West
Indies

(b) Indo-Malaysian zone mainly in
south and south-east Asia except
equatorial evergreen rainforest
areas

(c) Eastern Africa and northern
Australia

(d) North America mainly South-west
America
Doldrum are
1. equatorial calms
2. calm and light winds
3. roaring forties

4, variable both in position and in
extent

Select the correct answer using the
code given below :

(a) 1,2 and 4
(b) 2 and 3 only

(c) 1and3

(d 2,3 and 4

The gently sloping accumulation of
coarse alluvium deposits by a braided
stream is known as

(a) sand bar
(b) alluvial fan
(c) bajada

(d) diaras

33

98.

- 100.

Which one of the following is NOT a
palaeoclimatic geological indicator ?

(a) Lacustrine deposits
(b) Ice sheets and ice cores
(c) Evaporite deposits

(d) Sedimentary deposits

. INSPIRE is an ongoing initiative of

Government of India for

(a) attraction of talent for science and
research

(b) research advancement through
nurturing

(c) promoting research among various
S & T stakeholders

(d) augmenting quality manpower in
niche areas of research

In a test consisting of 150 questions,
Neha answered 40% of the first 90
questions correctly. What per cent of
the 60 questions does she need to
answer correctly for her score in the
entire test to be 60% ?

@ 75
(b) 80
) 85
@ 90

A — GHY-F-BST



101. T% 9&] S 2700 TR & 999 | TH
=fh =t 10% R wf Bt ® | AR 7w

@ 9Eg A 3600 TR A 99, A SEH

™ fera wftera e 2
(@) 15
(b) 18
(c) 20
d) 25

9t BCYX, EFVU, HISR, KLPO, ........
& ITEAT US GT BRI ?

102.

(a) NOML
(b) NOLM
(c) ONML
(d) ONLM

T gAaH guiish, & 2940 & om T
W TH Uf o T, TR ?

(a) 10
() 15
) 20
@) 35

103.

v et areh frelt de & st @t
g A wee fear wmar ® O e W
W 27 &G SET § | UE 91 3iR arent
AT & AR B

(a) 235
(b) 249
(c) 213
(d) 180

104.

GHY-F-BST - A
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105. afs 5472=09, 6342 =6 3T 7584 =6
%, a9 9236 T § ?
(a) 2
(b) 3
(c) 4
(@ 5

106. forr 3w &% Uw wew & w9 # fages
for s & forg fenelt =3t Rq smavwes
e fraffa A A= & € 2

1. SS909 TETEE H HE e
o It w9 | g R s &
forg siféa =ré =t

2. t& s @ il wmet sk
TG H AIE T B

3. @& =t E adyre @ fafye
T =

e fou T Fe w1 W W wE S
fera .

(a) 1,233

(b) Faet 1 3R 2

(c) %aer 23R 3

(d) Faet 13K 3

107. Frafafee ¥ @ form gfiag & qon 7@
s e S T
Tole@R # |41 gf ?

(a) =
(b) TR
(c) el FHerrad

(d) 1 @l wHerrEd



101.

102.

103.

104-

By selling an article for ¥ 2700, a man
loses 10%. If he sells it for T 3600, his
gain per cent is

(@) 15
(b) 18
© 20
@ 25

The next term of the series BCYX,
EFVU, HISR, KLPO,

(a) NOML

(b) NOLM

(c) ONML

(d) ONLM

The least integer when muitiplied by
2940 becomes a perfect square is

(ay 10

®) 15

(c) 20

@ 35

When the digits of two-digit numbers
are reversed, the number increases by

27, the sum of such two-digit numbers
is :

(@) 235
(b) 249
(c) 213
(d) 180

35

105.

106.

107.

If 5472=9, 6342=6 and 7584 =6,
then what is 9236 ?

(@ 2
() 3
(c) 4
d 5
Which o—f the following are the
essential requirements for a person to

be appointed as a member of Finance
Commission ?

1. A Supreme Court judge or one
qualified to be appointed as such

2. A person having wide experience
in financial matters and adminis-
tration

3. A person having sj;ecial know-
ledge of economics

Select the correct. answer using the
code given below :

(@ 1,2and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

Which one of the following musicians

served at the courts of Raja Man Singh
Tomar and Bahadur Shah of Gujarat ?

(a) Baiju Bawra

(b) Tansen

(c) Lal Kalawant

(d) Rang Khan Kalawant

A — GHY-F-BST



108. W Ffa FIF-IA-AGSE & AGTH
Hq a1 ?

(a) ¥ TEF I g
(b) wsgRA fat
- (¢) Y FeomEE sitferan

(d) IR gERt

109. Frafofea & @ "2 1924 & AR
Srevfs veuA A 7 9 g ot ?

(a) AER FEHS, TH. T. M, ea
SeATt, Afert et

(b) TEG el 3R Yha IS
(c) TH. €. e 3R wg. 4. =re

(d) TR AeHg IR TH. TH. R

110. TSI 3R I7eh G9!t & feraferfaa
Tt § /S a1 e gafera e R 2

(a) e foream :
HeH

& TR ;Y K
TH. AR, T

(b) SHEG-IA
Semr-u-feg

: WA A
&6 @ 9 i

GHY-F-BST - A
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(c) I SHIHes : Y. St forern
o

(d) w0 |fer® : TH. T, g
iy

1m1. fefafes & a == @,
(srrafc) wel = wega Rar § ?

(a) T 3R gt & 9 & e

(b) & R gEl (e wgw) Hi
g ¥ ¥ F 7E

(c) 9=t & foere & W
(d) T & =R IR F 7=
112, gt 1 &t gt 11 & @ gafea g

IR gt F 9= Ry 1w g =1 ww
W qE IR AT .

List I
(%1-wmerfer)
A. SiT|

it

List IT
(wT=)

1. ag Fafa

B. aIHatel 2. femme faafim

cuge R 3 W PR
(Frerft A=), oz et

D. 77 (feie)

L -

(2)
(®)
(©)
@

NN = =
VS S B R SR -
SR R R DS



108.

109.

110.

The Sufi work Kashf-ul-Mahjub was
written by

(a) Abu’l Hasan al Hujwiri

(b) Moinuddin Chishti
(¢) Shaikh Nizamuddin Auliya

(d) Amir Khusrau

Who among the following were jailed
in the Kanpur Bolshevik conspiracy
case in 1924 ? '

(a) Muzaffar Ahmad, S. A.Dange,
Shaukat Usmani, Nalini Gupta

(b) Muhammad Ali and Shaukat
Usmani

(c) S.A. Dange and S. V. Ghate
(d) Muzaffar Ahmad and S.S.

Mirajkar

Which one of the following pairs of
organization and their founders is NOT
correctly matched ?

(a) National - : Tej Bahadur
Liberation Sapru and
Federation M. R. Jayakar

(b) Jamiat-ul ; Maulana
Ulama-i Hind Mahmudal

Hasan
Shaikh-ul-Hind

111.

112.

(c) Congress : B. G. Tilak

Democratic

Party

(d) Congress : M. N. Roy

Socialist Party
Which one of the following represents

the inner planets ?

(a) Planets between the sun and the
earth

(b) Planets between the sun and the
belt of asteroids

(c) Planets near the earth

(d) Planets around the sun

Match List I with List IT and select the
correct answer using the code given
below the Lists :

List I List II
(Landform) (Agent)
A.Loess 1. Wind deposited
B. Tombolo 2. Glacier deposited

C. Point bars X 3. River deposited

D.Moraines 4. Sea deposited
Code :

A B C D
()L i3
L . S
(o). 2.3 4 1

T e e . SR

A — GHY-F-BST



BT T g (RS S L G e ST

L
List I List 1I
(74Y) | (7=t & fafy)
A. I9R ‘?:\\\figa
e
1
B. &
~C. & %
@
\ @
D. s \ @ pY
‘.L 4‘
!
|
A B C D
(a) 2 4 3 1
(b) 1 3 4 2
(c) 2 3 4 1
(d) 1 3. % 2

114.3f2 2[3]4=143R 3[4]6=60 &, A
4[5]17=?

(a) 72
(b) 84
(c) 96
(@) 108,

GHY-F-BST - A 38

115. frafafaa oft w e Hifg -
1,9.37,33:49, 73, ...

frefirfes ¥ ¥ @ de 9 veh
(a) 99
(b) 97
(c) 95
(d) 91



113. Match List I with List IT and select the correct answer using the code given below the
Lists : '
List I List IT
(River) (Location in map)

A. Penner
B. Vaigai
C. Cauvery

D. Krishna

Code
A B C D
(a) 2 4 3 1
(b) 1 3 4 2
(c) 2 3 4 1
(d) 1 4 3 2
114. If 2 [3] 4= 14 and 3 [4] 6 =60, then 115. Consider the following series :
4[517=" 159,17, 33,408
‘ Identify the missing number from the
(a) 72 e following :
®) 84 (a) 99
(b) 97
96
© ©) 95
(d) 108 (d) 91
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i < it st ¥ ¥ qu G 1 ua
sy
(a) 12
(b) 16
(c) 32
d) 48
117. feafofes & @ o9 & =7 194t
yraTsel & 3id ¥ rferes 9 3w I gH
Shwdadh €7
1. =T it & A sHe Sgd
HSTST ATUR 4T
2. 387 ‘gl s anfew gigawo
& yrEsTa it
3. 34 §ATS § wemmRiEl @ A9
TRE R wea W A e
Hetfaaredi 6t w gaen @i
&
4, T GAT I oA H A T &
o™ o9 o
I fiu T fe & WA W T TN
- gfer
(a) Sad 132
(b) 1,23R3
(c) %aw 3 3R 4
(@) 1,334

GHY-F-BST - A

40

118. HETCHT TMiEht & @@We & WR A
frfafega & @ o9 @/ @97 w8
R/87

1. gfeqor snfie A & faems
SR M S AR F R @
e ¥ TEIEH R & SN
feram an

2. FOWE % T Heal EH ©

3. TR [E w1 YRRg wd @
FE TgarER R € 9 fF RRiftmt
H FE TEATER

4. RA |, GAWE & TEWGH AR
Tiehsht 3 =aror 3% fopan

¥ Ry T F = W W 9 SW
g

(a) Fad 1 3R 4

(b) Fad 2

(c) o 4.

@ 1,2,334

119. EETEA! & Hafta frefifa wwt w©
ﬁ"aﬂ*ﬁﬁl’Q:

1. FIETed WEE WA ¥ UEEE
W A '

2. wraaTedt o faem @1 Saafter
amraa: fgashia o

I9geh # | S A1/ T w8 7

(a) e« 1

(b) e 2

(c) 1323t

(d T, TE2



116.

117.

Consider the following figure :

Find out the missing number from
among the following :

(a) 12
(b) 16
&) 32
(d) 48
Which of the following statements

about the Arya Samaj which emerged
in the late 19th century are correct ?

1. Had a very strong support base
amongst the trading castes

2. Introduced ‘shuddhi’ or mass puri-
fication

3. The moderates in the Arya Samaj
were headed by Hans Raj and
Lajpat Rai and set up a chain of
Dayanand Anglo-Vedic colleges

4. The Arya Samaj had fewer
members than the Brahmo Samaj

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 1,2 and 3
(¢) 3 and 4 only
(d 1,3 and 4

41

118.

119.

Which among the following statements
about Mahatma Gandhi’s Satyagraha
is/are correct ?

1. It was during the course of his
campaign against racialism in
South Africa that Gandhiji first
applied Satyagraha

2. The two vital ingredients of
Satyagraha are ‘truth’ and ‘non- -
violence’

3. The Satyagrahi resists evil by
inflicting suffering on himself and
not by inflicting suffering on the
opponent

4. In India, Satyagraha was first tried
- by Gandhiji in Champaran

Select the correct answer using the
code given below :

(a) 1 and 4 only

(b) 2 only

(c) 4 only

(d 1,2,3and 4

Consider the following statements
pertaining to the Satavahanas :

1. Satavahana rulers were identified
through metronymics

2. Satavahana succession to the
throne was generally patrilineal

Which of the statements given above
is/are correct ?

. (a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A — GHY-F-BST



120.

121.

122.

E 1 A g I % 9 gafea difsg
IR gfwdt & N Ry T 5 = W@
I FE S| g ¢
List I List II
(Rrfewmw (7t
!ﬁ_t'd‘lm) farfa)
A. JUTe __.. ,__EJ‘JJL\K
B. g |
C. &=
D. ufew smE
e :
R BB
(a 3 2 1 4
By 4 ¥ a3
T G e oy
7 R S VR
weult w9 @ fififa 37 18 = wrefim W=
TRy Feafafea & @ <9 o1 w 9w fean
TR ?
(a) THEEL THFNE
(b) ¥ AR THROE
(c) =T THFNG
(d)ﬂﬁlﬂﬁqwﬁa

W @w8 91 FEH (NCAP) a¥
2024 THF ARG FFT T 9 102 Ul &
Htrfia werd (fdTgee #) F 20%
¥ 30% TF T I W 9T W@l © |
|igw N gorn & forg smaR o @ @

GHY-F-BST - A
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123.

124.

125.

(a) 2015
(b) 2016
(c) 2017

(d) 2018
R A & Fefafaa 4 @ o

T Idfeh & 99 @ W 2019 F
a1 7o (feadiue) fomar w2

(a) INS T
(b) INS T

(c) INS I=g™

(d) INS faRes

AR a1g &1 3 Bl & § AH-64E (I) —

Ty EieH efererex ww feRar ® |
Tg efverex =t fafifa gam @ 2

(a) 9@
(b) &
(c) ®IE

(d) USA

‘Searg s fit WwemT A AT

 wgen s Feafafea % & @i @ a2

(a) weq
(b) gsiteis
(c¢) UK
(d) A=



120. Match List I with List I and select the

correct answer using the code given
below the Lists :

List I List IT
(Border of (Location
Sikkim) in map)
A. Nepal
B. Bhutan
C. China

D. West Bengal

.Code:
Lid e
(@ 3 ¥l
e ERe il St
i S ) R
e S O (AT

121. Which one of the following is the

name given by Indian Railways to the
indigenously manufactured Train 18 ?

(a) Humsafar Express
(b) Vande Bharat Express
(c) Ananya Express

(d) Gatimaan Express

122. The National Clean Air Programme

(NCAP) aims to reduce particulate
matter (PM) in at least 102 cities of
India by 20% — 30% by 2024. The base
year for the comparison of concentra-
tion is

43

123.

124.

125.

(a) 2015
(b) 2016
(c) 2017

(d) 2018

Which one of the following frontline
destroyer of Indian Navy was decom-
missioned in May 2019 ?

(a) INS Rana

(b) INS Ranjit

(c) INS Rajput

(d) INS Sindhurakshak

The Indian Air Force has recently
acquired the AH-64E (I) — Apache
Guardian helicopter. The helicopter is
made in

(a) India

(b) Russia

(c) lFrance

(d) USA

Which one among the following was

the first country to declare ‘Climate
Emergency’ ?

(a) Sweden

' (b) New Zealand

(¢) UK

(d) Ireland

A - GHY-F-BST
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ek

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

'BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

- Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet. '

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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